 Drivetechd4

...driven by quality

ISUZU D'MAX I COLORADO Spacer 22mm

No.: DT-UBA14 Radiator plate

Bar 1

Engine plate
Insert nut M10 250mm

Year: 2012- Insert nut M10x100/20

Engine: 2.5TD Insert nut M10 160mm

Transmission: AT

1. BOI MADRPD. ocoimsnsnnssss sesmmmmssnnessis v somsamsssa fovesviinsavsasss 3pc

2. Bolt MAOX30.....ccce et e s e e e 15 pc

B BOlt VTS0 oo o o S TR S R O S 2pc :

4 SOPACEE 220000 v v e e e I s e s e 2pc >, Bolt M10x50

5. INSEMt NUE MA0 TB0MM.ccvrrvovrsvooosooosos oo 2 pe s Washer 10

6. Insert nut M10 250mm...........ccoiiiii 2pc

7. Insert nut M10X100/20.............ooveooeeeeeeeeeeces oo 2 pc T

g. \é\!as?er TR et T O B A T P PP T T $0 pc i B asher Bolt M10x30
BB T on svsn o o gmows sws sy st 45 300 0 G S8 HEE 0 S SR SHE £ N £ S pc 0 X Washer 10

y L =T T R 1pc Washer 10 Washer 10 Gearbox plate

Transfer case plate

INSTALLATION INSTRUCTIONS

1. Remove original radiator and engine guard.

2. Mount bar 1 to original threaded apertures with bolts M10x20.

3. Fix rear end of radiator plate to original threaded aperture, then fix its front end to mounted beam with bolts M10x30. Fix middle part of the plate to original
threaded apertures with bolts M10x40 and spacers 22mm.

4. Place front end of engine plate under rear end of radiator plate, then fix rear end of engine plate with bolts M10x30.

5. Place insert nuts M10 160mm above apertures in underframe cross bar.

6. Place front end of gearbox plate under rear end of engine plate, then fix rear end of gearbox plate to mounted insert nuts M10 160mm with bolts M10x30.
7. Place insert nuts M10x100/20 and M10 250mm above apertures in underframe. Screw bolts M10x30 into insert nuts M10 250mm. Fix bar 2 to mounted insert
nuts with bolts M10x30.

8. Put front end of transfer case plate under rear end of gearbox plate, then fix rear end of transfer case plate to mounted br 2 with bolts M10x30.

9. Tighten all screws (50 Nm for M10, 30 Nm for M8, 10 Nm for M6). Do not use pneumatic or power tools to tighten.

www.drivetech4x4.com.au www.drivetech4x4.co.nz




